10 Academic
Day 3: Length of a Line Segment

Date:
Unit 2&3: Analytic Geometry

Task 1: The Distance ]:ormula

Vertical | ine Segments
ralow long is the line segment on the graph?

|Z| units

[How can the lengtlﬁ be determined using a mathematical calculation

instead of counting the number of squares?

Answer: ?— S = 5’

Horizontal | ine Segments
rﬂow long is the line segment on the graph?

|I_| units

[ow can the Iengtl‘] be determined using a mathematical calculation

instead oF counting tl’ze number o{: squares’.’

Answc r: ?" g“

Diagonal | ine Segments
This line segment is more difficult to determine the length as the

number og squares cannot be countec‘l as tl‘xeg are ona c{iagonal‘

First, calculate the vertical line segment

yamyi = 5 =D

Sccond, calculate the horizontal line segment

xi= T3=Y

Thcn, calculate the hHPotcnusc of the right trianglc
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| ength ofa | ine Segment Formula:

length = \gc Xg'xl)l‘f (31_3,)1
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E_x. USing the formula, find the leng’cl’w of the line segment D (3,5) and [ (4,-6).
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d = d(xm"x[) "'G'l-‘jl)

Y K‘L b3

AR (@5 d=| 1?0 B |
=\ (A rCE =13 vk |U‘J“" s 7
17

NG

Task 2: Fracticc Comp]ete the 5 Practice examples in Discovering Distances.

Task3: APPIications
What types of tr/an(g/cs are there?
SC.A-LE NE = all sides unequa/ [S05 CELE S =2 equa/ sides
EQU ILATTR ’q’L— =3 cqua/s/a/cs ‘ﬁfé H‘T -ANGLE Te AN Ee= follows the
ﬁgtﬁagorean [ heorem: a° +b° =%, where cis
the /ypotenusc ( the /oqgcst 5/36)
i. A triang]e has these vertices: D(é, 5), O(~‘1’, ]), G(Z, ~5> R T O O O O 2
a. Grapl‘y this triangle‘ 5 -
b. Determine the lcngth of each side using the formula. [ R R S e R e
]__cavc your answers with the square root. B A D(é] 3)
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(Fo .y De=UT

Therefore, ADOGis S CA Lc NT (scalene, isosceles, or cqu;fatcra/?)
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2. A triang]e has these vertices: (C(5,-2), Al-3 ,é), T(,0).

a. Graphtlﬂistriangle. 7
b. (Jse the formula to determine the Iength of each ﬂ(‘%é)\‘\\
side. Leave your answers with the square root. ______
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c. | herefore, ACAT is SC&LE N -E.: (sca/cne, /'505(:6/@5, orcc;u//atcra/?)

d. (se the three Iengths and the thhagorean T heorem to determine if AC AT is right anglecl.
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e. Determie the slope of cach side! Ok 9o
CA= %_%(;% AT_::E:(-'-;) CT:?;?_
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f. How can you use the s|oPes to determine whether ACAT is right anglcd?
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COMFLETE:p.77 #2ac,4, 53, 6, 8, 10, 15abcd, 20 Fage »



